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inizio

Ora

14.56.00
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dB  07/11/2012 14.53.04 - 15.13.04 Totale

100+

Senza marcatore 07/11/2012 14.53.04
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0009.s3d in Calcoli
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70 80
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Comulativa

—— Livello
Cursore: [61,6 ; 61,8[ dB Livello: 0,1% Comulativa: 1,9%




0010.s3d in Calcoli

T === 1 1 s n -
== A OO
o == 1 I |3 e  \\\\\§=
=TS TP\
= T NNy
o == . 5 - TN £
I S = S b S _ L4 S I HhHHhine
L == | |3 <0< AR I
o = e S N
o A== I | g . /. I
ER e R Y VAN N\
L T = e AR Y\
D === ' B N\
L === I |8 o_ oo , DO
T T—=— S S2¥cSo R s T et SR OO
= B 8 o © \ NN
o == 1 |g B g 38 3 M 3
R . O R & 2 8% g -1---Hhne .3
L = 8k » oo g BION\N gt
o = & o . I NE
= - © N\ \\\\\\\\ )\
T e 3 A B3 / NN\ §
| |7 B QD . DM b
| | | | Omm. TolTo] g " O\ §c 8
: U S = o = MMM £ g
| o |mTd g3d e AN 3
” T S K S e N\ d |
| |8 g 2o d - NN £
" I K SESS E OON\CEEAEE
| 7 a g o 5 SO 3
| L ey B S § rRs X
| L1228 E S g B\
s E 8 g S I
| 5 So o ERhhhhi \\ -
g 2 3E Sc g R 8 8 8 8
3 92 R




0010.s3d in Calcoli

Basato sull' 1% Ampiezza di classe: 2% 07/11/2012 15.28.55 - 15.48.55 Totale
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Comulativa

—— Livello
Cursore: [71,6 ; 71,8[ dB Livello: 1,5% Comulativa: 53,8%




